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bur030pc)Desktop\superman) SUPERM

his progran is Superman’s LAST HOPE? ALl the kruptonite MUST be found
v we will never see Supernan again (really he only exists in the movies anyuay
e

T8 Try Looking betueen 3.5 and 2.5,

hat range do you think the root is in? 3.0 2.9

ithin that range, what do sou think che valus of the root is? 2.8
outon’s Mothod reoult: —2.39999998395320

isection Method result: -2.99999998395320
ouseholder’s Method result:  -2.99999998395320
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TP: Try looking between -2.8 and -1.6135.

hat range do you think the root is in? —1.7 —1.6135

ithin that range, what do you think the value of the root is? -1.6137
ieuton’s Method result: -1.61364659473704

isection Mothod result: -1.61364659473716

irst Polynomial result: -1.61370084873737

00t 2 was found.
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TP: Try looking betueen —1.5 and —1.8.

hat range do you think the root is in? —1.3 —1.2
ithin that range. what do you think the value of the root is? —1.26
ieuton’s Method result: -1.26863624117952
isection Mothod result: -1.26863624117952
alley’s Method result: -1.26863579807742

00t 4 uas found.
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T8 Try Looking hetueen 0.0 and 2.0.

hat range do you chink the root is in? 1.2 1.3

ithin that range, what do sou think che valus of the root is? 1.2
outon’s Mothod reoult: 1268636241795

isection Method result: 1.26863624117952
ccant Method result: 1.26863649482383
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TP: Try looking betueen 2.5 and 3.1415.

hat range do you think the root is in? 3.8 3.1415

ithin that range, what do you think the value of the root is? 3.1414
ieuton’s Method result: 3.14130059540750

isection Mothod result: 3.14130059540708

ifth Polynomial result: 3114139999463233

00t 6 uas found.
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TP: Try looking betueen 3.1415 and 4.8.

hat range do you think the root is in? 3.1415 3.2
ithin that range, what do you think the value of the root is? 3.1418

ieuton’s Method result: 3.14179205989727
isection Method result: 3114179205989764
ourth Polynonial result: 3.14168825927920

00t 7 was found.

low g0 to the Range Calculation program as the first step towards finding the co
rdinates.

vogran completed
ress Enter to Continue. =





